Time: 03 Hours

Note: 1. Question 1 is compulsory
2. Answer any three out of remaining questions.

Ql 1 : \
divided into regions. Each region has mulj;gbl;& q@neﬁg Eﬂ@%onqhasﬁxﬁ'emﬁq’%es, Ol \:\,
Each sales person is allocated different dxﬁcsfﬂfgs I?JeﬁtW‘Qifi%’ft@bkvsﬁfe@ﬁgﬁg% g; <
at different granularity levels of regwﬁ &nd\m Q‘nniﬁo,‘u?}gmﬁuctggg %»gew §»
star schema by considering granul_&z{ty?‘lw‘elé\fm h;» §’ person’ And’, X
Convert the star schema to snowﬂéke sehelpaw g

Q2 A)

charges a pattfn.}t @k@ﬁ”l .
following QLAngQratmns ,\\ i‘“
1) Rollup’ Drill down’

5) Pivot.

h ] " ;bWw C;géa{ge "'djaerent:y matrix. Apply single link [10]
algonthm_to elustcr“the glvemlafassei\an&dmwthe dendogram
8 . Aftubi{te 1m > Attribute 2 (Y):

2
2

B)

0.5

D &\d“étadafa} B}géusgthe types of Metadata stored in a data warehouse. [10]
Inlustrate th an exgnmlq»
QL B):._ D;scuss q*tferent«stgpsqnvolved in Data Pre-processing [10]

%

2 A) ‘-Dlsbh,ﬂS vano].zs OLAP Models and their architecture [10]

"B) ‘ Def‘ neJrClass}ﬁcat-lon Discuss the issues in Classification. A simple example from [10]
58 Lhe stpckmarket involving only discrete ranges has profit as categorical attribute,
with“‘valués { Up, Down} and the training data is:
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A== QUP. Code: 27188

Time: 3 Hours (Total Marks 80)

Question no 1 is compulsory
solve any 3 from Q2 to Q6 _
Indicate your answers with neat sketch wherever necessary

Q1.ATTEMPT ANY FOUR 20

a) Explain The term “Poor Design Affects Reading”

b) Explain the steps to design Persona.

¢) What do you mean by Direct Manipulation and Indirect Mampulahon’? _
d) Explain Goal Directed Design in Detail. :

e) What are various advantages of DlgltaI and Graphics Systems?

Q2a) Provide various factors of Interface Design, justify your answer with proper example.10
b) Differentiate between Qualitative and Quantitative Research 10

Q3 a) What do you mean by response time? Explam sahent features that are adopted

with respect to response time. 10

b) Explain in detail about Gestalt's Principles. 10

Q4 a) Explain Various Menus in HMI. 10

b) Explain what do you mean by Keyboard Accelerators? 10

Q5 a) Explain How Colours Play Major Role in Human Interfécé_Design? 10

b) Differentiate between Web Page Navigation and Printed Page Navigation. 10

Q6 Write Short Note on following 20
a) Windows

b) Interview Techniques
¢) Mental Model
d) Statistical Graphics.
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LPeLE™ Q.P. Code: 25653
Duration: 3 Hours [Total Marks -80]
N.B. (i) Q. No. 1 is compulsory Bl
(i1) Attempt any three questions out of the remaining five: questxons
1 (a) How Pipeline Architecture is different from Array Processor archltecture 0s
(b) Explain the various types of Parallel Programming Models? S 05
(c) Explain a method of Dynamic Instruction schedulmg for munrmzmg hazards 05
(d) Explain Dataflow Computer with example__s : = 08
2 (a) Explain different types of pipeline Hazards and the ‘reehmques used to ehmmate 10
those hazards. ~ e e s
(b) Describe Architectural Model of Dlstnbuted System with neat dlagram 10
3 (a) Discuss in detail the various: performance memcs m parallel computmg 10
(b) Explain Lamport’s Dlstrlbuted Mutual Aigonthm 10
4 (a) Explain Matrix Muitlphcatlon on SIMD. 10
(b) Discuss File cachin g for Dism'i_b,ut_ed Aigor-ij;hm. 10
5 (a) Compareand contrast Task ASSIgnment Load Balancma and Load Sharing 10
approaches < - g o 3 :
(b) Explain call Semantics of RPC 10
6 (a) Describe anyone Election algorithm in detail with an example. 10
(b) 10

|
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Explain File Accessing _Mo_dels_. '
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Q. P. Code: 16297

Time: 3 Hours Marks: 80

N.B.:1) Q.1 is compulsory
2) Attempt any three from remaining five questions

3) All questions carry equal marks

Q.1 a). What are the main issues that need to be addressed while designing a MAC protocol for Ad-

hoc network? [10]

b). What are the design goals of a Transport Layer Protocol for Ad-hoc wireless networks?  [10]

Q.2 a). Describe the working mechanism of MAC protocol using directional antenna. Explain one

protocol in this category. [10]
b) Classify the network security attack and explain active attacks of any one layer. [10]
Q.3 a) Explain route establishment in DSDV with example. [10]
b) Explain issues and challenges in providing QoS in Ad-hoc wireless networks. [10]
Q. 4 a) Why does TCP not perform well in Ad-hoc wireless networks? Explain. [10]
b).Explain in details Ticket-based QoS routing protocol. [10]
Q.5 a) Explain the classification of routing protocols in Adhoc Networks and state the difference
[10]

between proactive and reactive routing,

b) Describe the issues and challenges faced in designing a security protocol for Ad-hoc Wireless

Network. [10]

Q. 6. a) Define soft reservation. Explain soft reservation Multiple Access with Priority Assignment

using frame structure [10]

b). Give brief explanations of power aware routing metrics of Ad-hoc wireless networks.,  [10]
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(3 Hours)

i Q. 1. is Compulsory.
i Attempt any three from the remaining.
ii. Assume suitable data.

Q1 (3
(b)
(©)
(d)
Q.2 (a) Describe charactenstxcsioéa_k&ééﬁda@g

SR

(b)  Explain concept.of Map Redueé ‘\
pseudocode fo;} ‘G‘roﬂp P S

Iq.;tgqc@;e:gf the World Wide Web and  (10)
‘x R
exgcqmménaaﬁqn Sysf (10)
1555
(10)

\

a@@iés ﬁlc Park Chen Yu (PCY) algorithm for frequent ~ (10)
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"What 15*a*‘*(3’bmmumty” in a Social Network Graph? Explain any one  (10)
algomthm or‘ﬁndmg communities m a Social Graph.
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